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AStringd | =JOpti onPane. shodwl:nput
A JOptionPane.showMessageDialog(null,ii £G Nji ¢ );
A importjavax.swing.JOptionPang;= 7 a Dz

package le=s=son(4;
import javax.swing.JOptionPane;
public class Review(0l {

public static void main(String([] args)
new Beview(Ql () .start():

vold start() {
String input = JOptionPane.shovInputDialog("Who are

JOptionPane . shovMessageDialoginull, input):
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"HA K g W Hinteger.parselify );
"HAKO ¢ W HiDouble.parseDoubMf ):

wvold start() {1

St.Iing j_nput.j_ = "E':'J.E",'.
int year = Integer.parseInt(inputl);

String inputZz = "5.10";
double monda = Double.parselDouble(input?l):

JOoptionPane.shovMessageDialog(nmll, vyear): § Doubld® ¢ W g "H
geDialog(null, monda); T 3G go
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void atart() {
int a2 = 10;
int b = 20;

void start() {
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int & = 10; N = N[ P
int b = 20; ¢ Q0 NIR ¥ L'\U a+bMEFAII020TT,
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J0ptionPane. showMessageDialog(null, "a + b DEA[" +2 + b + "9, ");
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void start() {
String conv = JDptinnPane.shovInputDialog:"f%,,xuﬁ,}\j'_l BTN

I]E(%ﬁ 1 » { int points = Integer.parselnticonv);
@W‘ﬂ lftE'D »= points && points »>= 40) {

I JOptionFane.showMessageDialoginull, ”Fﬁ ‘—3",1. +10™) ;
} points += 10;

@ﬂ@@ ﬁﬁ(%ﬁz» { else if(40 > points && points >= 20) {
@ WZ JOptionPane. showMessageDialog(null, "LefihENELE™) ;

1}
} |else if(20 » points && points >= 0) {
l JOptionPane. showMessageDialog(null, "Bt dNELEI
1}
lelse {
JOptionFane.shovMessageDialoginull, nFFHETY "

Iif (60 »= points && points »>= 0) {

I JOptionPane. showMessageDialog(null, "HEEONIEE[E" + points + "0n);
I

lelse {

I JOptionPane. showMessageDialoginull, "Game Over"):
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vold atart(){
String input = JOptionPane.showInputDialog(")l—JJO#E A1)

int num = Integer.parselnt{input);

int loop = 0 . . =
IFU0,1,2, ,nune 3 P

Loopss: [ 0 Nju Ui =nundDD
JOptionPane, showM=ssageDialog(null, )l ="fns loop + "@E”}: G L 6 $vl _,_u RY
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> while(S2{E) {
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void starc() {
int result = 1:
int count = 0;

B )

String num = JOptionPane.shovInputDialog("EaH

int exp = Integer.parssInt(num);

|¥RiTE (True) T

result *= exp;

count++;

JOptionPane.shovMessagelialog (null, result):

if (result > 100000000) {
JOptionPane.showM=ssageDialog(null, (BN 1{EFHZFLE™ ;
break;
¥
elze if(count == 10) {
JOptionPane.showMessageDialog(null, "l —JE#i100lTENELE ) ;
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vold start() {

i while ¢

boolean i=sLoop = troe:;
int result = 1;

int count =

alog(nmall,

aglog(nmall,
J_ﬂ']'_r:r:p = fal=se
el=ze

if{count == 10) {

:DprianijE showl aleg(nnll,
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voici, ELaXr (b i = o= = ==

int result =
int count = 0

String num

oginoull, result):

if(result > 10¢
JoptionPane . shovM=s55a0: og(nmll, "B L{EFEEAZFLE)

lizlcop = true; |
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void atart() {
int sum = 0;

while(true) {

ldouble random = Math.randem() * EF,I

Ilnt dice = (int)random + 1;,
gum += dice;

JOptionPane.showMessageDialog(null, dice + "(J BnS

if (dice = 1) |
J0ptionPane. showMessageDialog(null, "D ENLEOTHTLIT, \n
nfFBOEER + aum + T, ")
break;
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Cuestion() !
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Answer () ; *ORE
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o void ZYY R&() {
TTERNS

}
A} Uy €?2¢ g+ DDR
Astarf Z?¢1 0 g6 ADz U@ AGG
Question € ? ¢
g.l

}

void Answer() { Answey Z ? ¢
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, J0ptionPane,showM=ssageDialog(mall, "&7 ¥ g
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Ustarf Z?2 ¢ 6 R0 woid start() {) O

O starf € ? ¢ K DXQuestion
} €?2¢ U0 Uf 0NjR
g 5 Question Z? ¢ s 0

A IAQ void Question() { .
U Stal‘lj " ¢ K DZAnswer JOptionPane, showMessageDialog (null, "141=7");
- o PO, |
] Z?¢ U0 Uuf 0NjR
g SAnswey 7 ¢ s U nEhEEE
AR J0ptionPane. showMessageDialog(mll, "E7 3277, i’} ;

} |
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void Question() { [void Question() { x
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for(i = 0; 1 < 5; i++) {
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U Stal‘i,l @ ’l) ¢ 6 ﬁ 0 void start{) {U |
i _ Question(); g |
0 starf € ? ¢ K DXQuestion
] Z?2 ¢ s 0 AU Question
:I. @ fn) ¢ S 6 A R Y String input = JOptionPane.showInputDialog("1+1=?");
int num = Integer,parselnt(input);
U QueStIOp @ r') ¢ g \ Dmun Answertnum];o
S lr 3 AAnswe,r @’P &
s0O AUAAI

roid Answer (int mumber) {U

U Answey Z7? ¢ U DA) if (nanber = ) |

nun@ ; S Ho? R é ‘I‘ g } J0ptionPane. shovMessageDialog(null, "L8TT,";
inDW numbed/ R RY BEEX

= JOptionPane, showMessagelialog(null, "]Eﬁ;tl 4_..:. L (32T
GAOQ Answey Z7? ¢ s
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vold Question() {

.5 m 7B m . W namej 3 W ageg !
String name Frid |V FF - s Answey Z 7 ¢ Dz AGNJY
. Question ¢?¢3I—U F GNj
Enswer (dame) {2gE); \NYgl CsemsNytP 3
- = - = G

int age = 189

woid Engwer (Stringameg) inf cenre
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